A=(1,9,11,13} 1€EA -2£A

=0
Al={b}c A A1={a}lc A
A={a,b} >
n Al={ablcA Al={=Q< A
An =
0!=1
NI=1*2*3*(n-1)*n
N!=(n-1)!""n
n n__N!
C(k)=Ck=K!(n-k)! VY kjl Sl N S 5
A=B=—=>A<B,BS A
M,U
A B | AUB={x| xeA or xeB}
Q) e
AUB BC_:AUB
M,U
A B |ANB={x| xeA and xe B}
Q" [t
5 ANBS B
M,U
A B A-B ={x|xeA and xeB}
A-BS A
B-A< B
& (A-B)N(B-A)=O
M,U
A B |AAB=(A-B)U(B-A)
@ AAB=(AUB)- (BNA)
AAA
M,U
S A’ ={ xeM| xeA}
A AUA'=M
ANB'=A-B

N(AUB)=N(A)+N(B) - N(ANB)
N(AUBUC)=N(A)+N(B)+N(C) -N(ANB)
-N(ANC) - N(BNC)+N(ANB N C)
— sl
AUB=BUA
ANB=BNA

Sy OS>
AU(BUC)=(AUB)UC
|:A NBNC)=(ANB)NC

AN(BUC)=
AU(BNC)=

(ANB)U(ANC) ey Caols
(AUB)N(AUC) w595 b

b slacl acgazo N=({1,2,3,

2

Fay

And = O Acp—s| ANB=A
AU (D=A AUB=B
ANM=A A-B=ANB'
AUM=M A-B=A-(ANB)
(ANB)=A'UB" ¢ . 15
(AUB)'=A"NB’

(a,b)=(c,d) &= a=c, b=d
AxB={(a,b)lae A, be B}
AXB#B XA
g0 slacl acgoze 7={0), +-1,+-2,+-3,....}
LS slacl cu:wQ={—g|p,qe Z,qz0}

c shls ol HLicel aS (swgizeol s)Lanel slacl
2isS K8 slael L analyos ol 1S

oisi> slacl acgozo R=Q U Q°

NEZSQER
R=NUZUQU

a
[a,b]={x e R| a<x< b} e 5

(a,b)={x e R| a<x<b}

a
—o
—

2 2 2
(a+b)=a+2ab+b
2 2 2
(a-b)=a-2ab+b
(a-b)(a+b)=3-b

(x+a)(x+b)=x+(a+b)x+ab
2 2 3 3
(at+b)(a-ab+b)=a+b
2 2 3 3
(a-b)(a+ab+b)=a-b

3 3 2 2 3
(a+b)=a+3ab+3ab+b

3 3 2 2 3
(a-b)=a-3ab+3ab-b

2 2 2 2
(a+b+c)=a+b+c+2ab+2ac+2bc

2 3

5 X(x-1)(x+1)(

3(x—12)(x+3) 2(x-1)(x+1)(X+3),

22 2 35
6(X-1)(X+3)(x+3)X »-p.S
(x-1)(x+3)

PP

x2+3§
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Ax+bx+c=0
A =B-4ac
A >0 cowl @iy, 95 Shls asles
A =0
A <0

3l wclae auin, S

5l Bad> auin,

pr 2

X1,X2= -
2a
S =x1+x2= % X
o = X-Sx+P=0
| P =x1 .X2=—a

A>0 ol @b i) 95 Shls aslso
B=0 =— S=0

pﬁu.us.cq_uu‘,sb lsl)lb asleo

[ A>0
C=a — P=1

_A >0 Cowl o0 alsleo Sl aLiy, 5l Sy
C=0 = P=0

A>OQJ>I£DCLJ.L_J_)33 N a

L>0 LioMce pd _
| 4 _—a<0w iy, 9>

A >0

c
a <0

- >0 ) L 19>

Lo Mell walizo dsles ain, 9>

9 X X1 X2
Ax+bx+c=0 cuolle slgo 'uuszq.lu.o [ Cole (sdlgo
A>0 x“-‘**'”? X2y X e

2 X X
Ax+bx+c=0| colle sslso

A =0

B=x-x
B A

A(x1,x2)
B(x2,y2)

_Y2-Y1
- X2-X1

[ P=axtb — m=a
ax+bx+c=0=—=> m= '—S

MM =-1  9%98c pd » b9
M=M" izjloo o o>
b> 93 cumog A b sisbliio s g5
PD U a" b
‘a2x+‘bx+(‘:=0 %:%#% Lizlgo o> g5
a'x+b’x+c’=0 %=%=% sidabaio b 95

_A(x1,x2) y-y1=m(x-x1)

2-y1

| BO2y2) = 2 )

x2-x1

[ x1#x2 .y yyl _ xxd

y1#y2 y2-y1l  x2-x1
x1=x2 — x=x1 a9l b
yl=y2 = y=y1 390 o>

[ AX1,y1) |lax1+by1+c |
ax+by+c=0 -

| &Y | G+b)

I = — | C-C‘|
ax+by+c‘ 0 ; D=
ax+by+c'=0 (az+t2))

— m=m’

sin tan
2 A A
A 1
Bl D

» cot 2[?253

('ﬂ" | ™ 3[2‘;:;_

A(x1,x2) — 2 2
IAB| =\ (X1-x2)+(y1-y2)

[B(XZ,VZ) | J

X1+X2
2

Y1+Y2

2

AB
8= M

» COS

! yA oL
3 4

it + ¥ F* * 3 2f
6 4 3 2 2
o | 3 | 45 | 60 | 90 | 180|270 | 360
sinl o| X |3 | 1 0 1 0
2 2 |
cos| + ||| L] o 1] o | 1
2 2

tan| o 3 3 N U 0
cot @il | EN o [, s
i 3 s N

bl abss alold

-.5)'|9n b 9> alold

1 Sin=OH + Tan=AC +
Cos=OH" + Cot=BD +

Tan=-
Cot=-

Tan=+
Cot=+

Tan=-
Cot=-
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2 2
Sinx+cos=1

Sinx=t\/ 1 —cozsx
2
Cosx=’f\/1 -sinx

sinx
Tanx= TOSX
_ COSX
cotx= —
sinx
1
Tanx= <ot

-1<= sinx,cosx<=1
1
X [ 1 +cétx
1
cosx=t .
\ [ 1+tanx

(-a & 2K -a)

Sinx=t

Sin(-a)=-sin a
Cos(-a)=cos a
Tan(-a)=-tan a
Cot(-a)=-cot a

(T -a)

Sin(180-a)=sin a

Cos(180-a)=-cos a
Tan(180-a)=-tan a
Cot(180-a)=-cot a

(T +a)

Sin(180+a)=-sin a
Cos(180+a)=-cos a
Tan(180+a)=tan a
Cot(180+a)=cot a

(L -a)

Sin(90-a)=cos a
Cos(90-a)=sin a
Tan(90-a)=cot a
Cot(90-a)=tan a

5
Sinxt
/
K cosy
Sinx!
\ J cosH
Sinxt
-
— J oSy
Sinxt
N
\ J COSX

(= +a)
Sin(90+a)=cosa  /\|
Cos(90+a)=-sin a

Tan(90+a)=-cot a
Cot(90+a)=-tan a

Sin(a+b)=sina cosb+sinb cosa
cos(a+b)=cosa cosb-sina sinb
_ tana+tanb

" 1-tana tanb
Cota cotb-1
Cota+cotb

tan(a+b)
cot(a+b)=

Sin(a-b)=sina cosb-sinb cosa
cos(a-b)=cosa cosb+sina sinb
Tana-tanb

1+tana tanb

-Cota cotb-1
Cota-cotb

tan(a-b)=

cot(a-b)=

1-cos2x
N [
Sinx=t >
+c0s2x
=t
Cosx=t, ’CZ

Sin2x=2sinx cosx

2 .2
Cos2x=coSx-sinx —

2tanx
tan2x= 2
-tanx
2
_ cofx-1
cot2x= cotx
Arc sinx=y &= Sin y=x
ye [T, T ]
2 2 if Ye[I 3T J—=y+T"
xel -1, 1] 2 2

Arc cosx=y&—— cos y=x

yel[o, ]

xe[-1, 1] if Ye[T ,2kT]—=—=y+T

Arc tanx=y &——= tan y=x

ye (-, 1)

XeR

if Ye (%3% =l

Arc cotx=y &= cot y=x

ye(o, )

e R if Ve (T ,2KT)=—>y+T
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X

x=|ogba ——b=a

log MN=logM+logN
a a a

M
log— = logM-logN
O%N % ga
log a=1

a

log 1=0
a

M
loga =Mlog a
b b

loga = -loga
QM M g
b
lo am -mlo a
g "D
_ 1
Iogba logb

loga , logb _loga
b c c

loga
loga=_C
b logb
gc

I
aogabzb

pig,)8) wVsleo

log(x+1)+ log x=2 == logx(x+1)=2

— 10" =x(x*+1) = %x-100=0

_-1-y401
x1= 5
X2= -1+ 401 31538550 b suslio e, Sly ve

Iogzx+log2=2 — Logx+ =2
X

2 o
o4
09X =7 — 7+ 1 =2 = Z27+1=0
2
(z-1)=0 —=z=1
Log;<=‘|:> X=2
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